
ENEM – 2º DIA - 28/11 

  Questão 163 

 

 

 

 

 

ALTERNATIVA E 

Operações definidas no enunciado: 

(𝒂∆𝒃) = 𝒂𝟐 + 𝒂𝒃 − 𝒃𝟐 e (𝒃∆𝒂) = 𝒃𝟐 + 𝒃𝒂 − 𝒂𝟐 

Quando b = 1, 

(𝒂∆𝟏) ∗ (𝟏∆𝒂) = 𝟎 ⇒ 

(𝒂𝟐 + 𝒂 − 𝟏) ∗ (𝟏 + 𝒂 − 𝒂𝟐) = (𝒂𝟐 + 𝒂 − 𝟏)(𝟏 + 𝒂 − 𝒂𝟐) + (𝒂𝟐 + 𝒂 − 𝟏) = 𝟎, pois 𝒙 ∗ 𝒚 = 𝒙𝒚 + 𝒙. 

(𝒂𝟐 + 𝒂 − 𝟏)(𝟏 + 𝒂 − 𝒂𝟐 + 𝟏) = 𝟎 ⇒ 

(𝒂𝟐 + 𝒂 − 𝟏)(−𝒂𝟐 + 𝒂 + 𝟐) = 𝟎 

Portanto 𝒂𝟐 + 𝒂 − 𝟏 = 𝟎 ou −𝒂𝟐 + 𝒂 + 𝟐 = 𝟎. 

 𝒂𝟐 + 𝒂 − 𝟏 = 𝟎 

∆= 𝟏 − 𝟒. 𝟏. (−𝟏) = 𝟓 

𝒂 =
−𝟏 ± √𝟓

𝟐. 𝟏
=

−𝟏 ± √𝟓

𝟐
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 𝒂𝟐 − 𝒂 − 𝟐 = 𝟎 
∆= 𝟏 − 𝟒. 𝟏. (−𝟐) = 𝟗 

𝒂 =
𝟏 ± 𝟑

𝟐. 𝟏
⇒ 

𝒂 = 𝟐  𝒐𝒖  𝒂 = −𝟏 

Valor máximo é 𝒂 =
−𝟏+√𝟓

𝟐
  e a = 2. 

Soma: 
−𝟏+√𝟓

𝟐
+ 𝟐 =

−𝟏+√𝟓+𝟒

𝟐
=

𝟑+√𝟓

𝟐
 

 

 

 

 

 

 


